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SA A=
I NHIbss TADNE M 2R([ELXANL/RALTAI)
Rl DAIOIZ o s fls ASYE = (SH9 H2)
A -3 - GRA(3) - ARAY - BES Ofl &y I8 [ ImE=r",
A= 10,297,183 10,393,926 196,743
= 5,411,432 5,455,632 A44,200
=S 512,702 445,402 67,300
Al 4,373,049 4,492,892 A119,843
AR(RELNGNL /XL EAI 810,609 970,793 A160, 184
LS 413 413 0
Al 810,196 970,380 A160, 184
TAIDI2 e =y =8 278,853 330,390 Ab51,537
ASHY HAS) 43,720 86,470 A42,750
201 Ler2aY| 43,720 86,470 A42,750
01 Ak 2teltl 43,720 86,470 N42,750
OAHEA SRUH =2 31,170 61,370 30,200
OAESQ HEZA 292,000 *603] 17,520 32,120 A14,600
0olJtd SEZAL 195,000 702 13,650 29,250 A15,600
OSIIEE =22 o0& 0 150 2150
OBZAl A=EAR3 12,550 24,950 A12,400
o MERAG BN - YA =&
150,0002 7 E 42| 4,200 11,550 AT,350
o&FA - YA =& 150,000 * 15 *32] 6,750 9,000 A2,250
o A4l 50,0002 x8 & *42] 1,600 4,400 22,800
T ARSUE DASHAIY 223,963 230,000 16,037
207 A EH] 223,963 230,000 16,037
02 H&HDIHEH] 223,963 230,000 16,037
OF A=SUHE MASALE (0B 75)
223,963,0002 223,963 230,000 16,037
CAIDIZ2 g flet AFHY =N X2 11,170 13,920 N2,750
201 Ler2 3| 10,120 12,420 £2,300
2 ss=23Hl 1,800 4,100 A2,300
oSk F=Hl 100,000« 12& 1,200 2,100 A900
OAEXE 72l 600,000 600 2,000 A 1,400
202 O] 1,050 1,500 A450
01 2oL 1,050 1,500 N450
OAH=SUY 23 M
350,000 350 500 2150
OA=AL) ARSE ST TAL- A
350,000 350 500 A150
ooz h= Megd= 350,000 350 500 2150
ANz SX+E &d 452,228 508,823 156,595
< 413 413 0
Al 451,815 508,410 156,595
400,215 445,290 136,075
14,390 18,140 23,750
14,390 18,140 23,750
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A AFY
A XBIsE TADHY Met RR([ELRGNL/XALCAL)
Chel: OS2 TAIRHSD] EER=E)
SA - BB C9I(B) - HIRAY - BES ol ko o 8 o HImE2
Osgte Fol(dd & #) 8)
o 0 30,000 30,000
22| 202 | 60,028 67,080 A7,052
301 LEEES 1,000 2,000 A1,000
14 JIEt2 4= 1,000 2,000 21,000
O=gZns =H2HN 1,000,000 1,000 2,000 21,000
401 AlZBIL Sy 4,000 5,000 1,000
01 Al&ZHI 4,000 5,000 21,000
OZ1n2 HAIH BHI(ME 2 B &)
4,000,000 4,000 5,000 21,000
405 THEFSHI 24,948 30,000 ~5,052
01 ML ESFSHI 24,948 30,000 25,052
OsAZ=s HEXtE 2
24,948,000 24,948 30,000 A5,052
FEAIE oty & FAHSK S (ARSI ZMS2Y) 6,209,502 6,237,902 28,400
= 5,411,432 5,455,632 244,200
< 512,289 444,989 67,300
Al 285,781 337,281 51,500
FEHH A 6,209,502 6,237,902 28,400
= 5,411,432 5,455,632 N44,200
< 512,289 444,989 67,300
Al 285,781 337,281 51,500
HIZ&AX HFXE OIAH] XI& 4,000 2,400 1,600
= 2,000 1,200 800
< 2,000 1,200 800
301 LEtENS 4,000 2,400 1,600
= 2,000 1,200 800
< 2,000 1,200 800
01 AR 2EHSFS(RNEXRTHE) 4,000 2,400 1,600
OHIE&YHX H==Xt OlAH] X2
4,000,000 4,000 2,400 1,600
= 2,000 1,200 800
(= 2,000 1,200 800
EXA AMERSR =8 A= HEOIL X 0 100,000 100,000
301 LEENS 0 100,000 100,000
03 A2 H AT S (XL THH) 0 100,000 100,000
OZZA MERR =8 JMX= S0l
& o0& 0 100,000 100,000
AMESRS =AHNZ HWEO0IX XA 160,000 0 160,000
[ 80,000 0 80,000
Al 80,000 0 80,000
301 LRIEHZ 160,000 0 160,000
< 80,000 0 80,000
Al 80,000 0 80,000




FA A=
S FEAY 8 & FHSX S (MASA/IIZEE2Y)
el FEEHAA (SH9 H2)
SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
02 A2 RS (FAAS, NLHA) 160,000 0 160,000
OUERR FHX= HE0IAt X
160,000,0002 160,000 0 160,000
= 80,000 0 80,000
Al 80,000 0 80,000
HEEAH StAl SEX 0 90,000 A90,000
= 0 45,000 45,000
& 0 13,500 A13,500
Al 0 31,500 A31,500
301 LA 0 90,000 A90,000
= 0 45,000 45,000
L= 0 13,500 A13,500
Al 0 31,500 A31,500
01 AlRI2EH (ZDEERTHH) 0 90,000 A90,000
O3dEA 0 0 90,000 A90,000
= 0 45,000 45,000
< 0 13,500 A13,500
0 31,500 A31,500
CAZENE(NERH 3,153,011 3,154,011 1,000
J&xE I = 2l 3,153,011 3,154,011 21,000
IINEE =X 1,534,011 1,535,011 1,000
202 04t 1,000 2,000 1,000
01 20 1,000 2,000 1,000
O&IINEE 8 1,000,000 1,000 2,000 1,000
AY2SZHI(A=D) (OIEH/IIEH 29,588 30,838 A 1,250
2l 29,588 30,838 A 1,250
== lal 29,588 30,838 A 1,250
201 LerEaY| 20,200 20,300 2100
2 =23l 200 300 A100
FA2E SS23H| 200,000 200 300 A100
202 O] 3,000 4,000 1,000
01 20 3,000 4,000 1,000
FA2E =L 3,000,000 3,000 4,000 1,000
406 Xt S 1,588 1,738 A150
01 Tt = 1,588 1,738 2150
OArF& 2IX 182,000 *5H 910 1,000 A0
OARa 20| 339,000 2CH 678 738 60
SEFH(2E /NSHLEA) A,473 382 94,001
INES 94,473 382 94,001
=EHgEs 94,473 382 94,001
802 gret=JIEl 94,473 382 94,001
01 =nEx3 87,556 254 87,301




M AFY
M NWRS(AS)(BEL XN/ AL Al
thel: B8XE (CH9: &S1)
SA - BE - SRI(BH) - MRAR - BaS ol &t o H o HIDS2
02028 = =120 JA&H & OIX%
87,300,540 87,301 0 87,301
02 Al - EHIEZ=S3BHEZ 6,918 128 6,790
O202H = =120 Zl&H & Ok
6,789,690 6,790 0 6,790




